




568 ÷ 5 =

3

8
+ 
12

8
=

3.Persia wants to estimate the answer 
to

Tick the calculation below that is the 
best estimate.     Tick one.

2 + 3 – 2

3 + 3 + 2

2 + 3 - 3 
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3.Persia wants to estimate the 
answer to

Tick the calculation below that is the 
best estimate.     Tick one.

2 + 3 – 2

3 + 3 + 2

2 + 3 - 3 

Solutions
1. 113 r3

2.
15

8
or 17

8

3. 2+3-3

21

4
+ 31

5
– 26

7
1.

2.







https://whiterosemaths.com/homelearning/year-5/


https://wrm-13b48.kxcdn.com/wp-content/uploads/2020/05/Y5-Lesson-3-Divide-with-remainders-2019.pdf


https://wrm-13b48.kxcdn.com/wp-content/uploads/2020/05/Y5-Lesson-3-Answers-Divide-with-remainders-2019.pdf
















http://www.math-play.com/Division-Millionaire/division-millionaire-game_html5.html

